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Mandatory or Optional : Mandatory

Number of Questions : 21
Number of Questions to be attempted : 21

Section Marks : 25

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 789484265
Question Shuffling Allowed : No

Question Id : 7894847249 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No
Group Comprehension Questions : No

Question Numbers : (1 to 5)
1-5

Read the passage carefully and mark the correct answers for the questions that
follow:

My father’s family is not a musical family. They are a famuly of words. a family
that thrives on long discussions. Sunday crossword puzzles and puns. My brother has
my father’s dark hair. his love of a good argument and his incisive wit. I take after my
mother. From her I inherited a curious nature. a sense of adventure and bright red hair.
I did not. contrary to her hopes. inherit a talent for the piano. That fact was established
bevond doubt atfter prolonged and futile attempts to draw music from me.

The piano lessons began when I was four. My mother was convinced that I
would be a child prodigy. one of the rare. startling creatures who sits down at the piano
tor the first time and discovers how to make the piano sing. She had made some phone
calls and found the i1deal teacher to nurture such a prodigy — Madame Oblenka. a stern
Russian women. Madam Oblenka. who expected a little Mozart. was not overly

delighted to find herself saddled with a little girl banging her fists on the keys.

Sub questions

Question Number : 1 Question Id : 7894847250 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

According to the passage. which of these statements 1s NOT true?
Options :

The narrator’s fanuly loves lengthy discussions.



The narrator’s fanuly 1s witty.

The narrator’s family enjoys music

The narrator’s family loves the Sunday crossword puzzles.

Question Number : 2 Question Id : 7894847251 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of these qualities did the narrator’s mother have 7
Options :

L& musical talent

love for crossword puzzles

2.

; razor-sharp wit
dark hair

4. %

Question Number : 3 Question Id : 7894847252 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How old was the narrator when music lessons began?

Options :

2 years

) % 14 years

3 % 6 years

4 years
4. %



Question Number : 4 Question Id : 7894847253 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What was firmly established about the narrator?
Options :

% The narrator was a child prodigy.

The narrator had no musical talent.
2. %

The narrator was excellent at words.

The narrator knew how to make the piano sing.

Question Number : 5 Question Id : 7894847254 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The ‘T in the passage refers to
Options :

| % the father

the mother

s x @ little boy

a little girl

Sub-Section Number : 2
Sub-Section Id : 789484266
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 7894847255 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify which part of the sentence i1s grammatically incorrect.

Options :



| fwe

exercise regularly.
we will be

more healthier.

Question Number : 7 Question Id : 7894847256 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify the gramumatically incorrect sentence.
Options :

P If vou are not regular. you face difficulties.

If vou are not regular. you may face difficulties,

2.

3 % If you are not regular. you will face difficulties.
If you are not regular, you might face difficulties.

4. %

Question Number : 8 Question Id : 7894847257 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify the grammmatically correct sentence.
Options :
She will not be happy unless her friends do not help her,

1. %

She will not be happy unless her friends help her.
2.¢

She will not be happy unless her friends will not help her.



She will not be happy unless her friends will help her.

Question Number : 9 Question Id : 7894847258 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Complete the sentence using appropriate auxiliary verbs.
If you see clearly. then you wear spectacles.

Options :

can. must

nead. used

can’t. must

may. will

Question Number : 10 Question Id : 7894847259 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Complete the sentence using appropriate tense.
Yesterday. he from his official trip to Dellu

Options :

returns

returned

has returnad
3. ®

was returned
4. %

Question Number : 11 Question Id : 7894847260 Question Type : MCQ Option Shuffling : No Display



Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Complete the following using suitable prepositions.
His daughter was born 12 midnight 14 August 1947.
Options :
at, on, i
1. ¢

at. of. in
2. ¥

at. from. during
3. %

at. at. in
4. %

Question Number : 12 Question Id : 7894847261 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify the sentence with the incorrect use of preposition.
Options :
The loud noise prevented him to sleep.

1.V

She 1s planning to take a one vear course in Japanese.
2. %

We arrived at her house and knocked on the door.

The TV campaign is aimed at the 16-24 age group.
4. ®

Question Number : 13 Question Id : 7894847262 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which 1s a synonym of the word “MOMENTOUS"?

Options :



trivial

1. ®

2. % historic
fl~ightem11g

3. %

4, ® 11101'i11g

Question Number : 14 Question Id : 7894847263 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which 1s an antonym of the word “DILIGENT™?
Options :

hardworking

industrious

lazy

productive
4, %

Question Number : 15 Question Id : 7894847264 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the pair which are NOT synonvms of each other.
Options :
happy-elated

commonplace -boring
R

3 % stupid-dumb



adversary-supporter
4. v

Question Number : 16 Question Id : 7894847265 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the misspelt word.
Options :
0CCass101l
1.v

acknowledgement

2.

receive
3.

pronunciation
4.

Question Number : 17 Question Id : 7894847266 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify the correctly spelt word.

Options :

acquaintence
1. ®

acquaintance
2. ¢

acquintence
3. %

ECL]\-‘.’E‘HI’E! nce
4. %

Question Number : 18 Question Id : 7894847267 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of these can be used as a prefix to the word “"ACTIVE™?
Options :

1. ® =

, % DIS

MICRO

HYPER

Question Number : 19 Question Id : 7894847268 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which suffix can be added to the word “PRESENT"?

Options :

L% MENT

IBLE

ABLE

LESS

Question Number : 20 Question Id : 7894847269 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Complete the sentence using appropriate articles .
I opened door and found old man waring dhoti standing
before me.

Options :

the. the. a



a. an. the

the. an. a

a. an. the

Question Number : 21 Question Id : 7894847270 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the sentence with the correct article use.
Options :

He is the best player in the team.
1LV

Do you play the football?

2.

I have an urgent business,
3. %

The gold is precious metal.
4.

Question Number : 22 Question Id : 7894847271 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the appropriate tag.
It hasn't ramned since morning. 7

Options :

| # isn'tit 7

has 1t ?
2.9

hasn'tit ?



did 1t?

Question Number : 23 Question Id : 7894847272 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Change the following to Direct Speech.
They said they were exercising every day.
Options :
They say. “We were exercising every day”.
1. #

They said. “We are exercising every day”.
2.¥

They said. “They are exercising every day”.
3. %

They said. “We exercise every day”.
4. %

Question Number : 24 Question Id : 7894847273 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Change the following into Passive Voice.
They conducted gender training in six villages.

Options :

Gender training is conducted in six villages.

Gender training has been conducted in six villages.
2. %

Gender training had been conducted by them in six villages.
3. %

~ Gender training was conducted in six villages.
4.9

Question Number : 25 Question Id : 7894847274 Question Type : MCQ Option Shuffling : No Display



Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Rewrite the sentence without changing the meaning.
I did not invite him. still he came to my party.

Options :

As I did not mnvite him. but he came to my party.
1. #

Because I did not mvite him. so he came to my party.
2.

He came to my party though I did not invite him.
3.¢

However I did not invite him. yet he came to my party.
4, ®

General Knowledge

Section Id : 789484218
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15
Section Marks : 15
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 789484267
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 7894847275 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Jaya Arunachalam. who died recently. 1s associated with one of the following
BEHE HBEBoDS mdr vhmrdoo, & Sorrdd Sobd %8

Options :
Painting

- ono®oh



Self Help Group Movement
xoho S35PchE Sogre &N

2.

Dancing
3 % PE50

Chemical Industry
4% Barchsd HB|Even

Question Number : 27 Question Id : 7894847276 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Viveka Deepini is authored by
D8 BB BHoVS B

Options :

Abdul Kalam

@ane Bewo
1. ® L

Venkaiah Naidu

, 30808y ardintD

2.9

Dasarathi
_— itz te A

Yandamuri Vgerendranmh
o oHodord do>E

Question Number : 28 Question Id : 7894847277 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The range of ASTRA 1s
o, 858 566

Options :

| SOKM



70 KM

2. F

90 KM
3.

100 KM
4. %

Question Number : 29 Question Id : 7894847278 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
PONUNG DOMING i1s associated with
800h &°0oh A8 Ho2ohodd 7%

Options :
Army

v B0
Science
25

2. % i
Culture
20N S

3. % @
Sports
e

4. %

Question Number : 30 Question Id : 7894847279 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Recently International Astronomical Union has approved the name of a Minor
Planet after
5B5B 2.8 2 (o @oéaﬁgécﬁ o(PareoEd Sogno ot JpBodid Bl

Options :

M.S Subbalakshmi
M.S fm@@%



Hari Prasad Chaurasya
B ([Hard Toudy

2. %
Sonal Mansingh
fard Sramoh
3. %
Pandit Jasraj
50885 s=hoes
4.9

Question Number : 31 Question Id : 7894847280 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Financial Action Task Force 15 based in
2TRCHS SSFES D) §95) SolBo s Boik

Options :
(eneva
L% 25w
Washington
_.mﬂ-
s ox @ cqoi:jﬁ
Paris
o)
3.
Fome
L B

Question Number : 32 Question Id : 7894847281 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Vovager 2 do not study one of the following planets

SHzEE 2 % |Bod (5508 HomohHodd H888%58 Johh
Options :

Mercury
Ly PRE



Jupiter
GRS
L%

Neptune
SR

Uranus

OS0BHD

4. &

Question Number : 33 Question Id : 7894847282 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
First woman to walk in space 1s
BT DD 3B ey

Options :

Svetalana Savitsakava

RErEE arseEEyudh
L ¢ et ) B

Jesica Meir

2% 2omb

Christina Koch
B g5

Valentina Tereshkova
é@gaﬁ @6@%&6

Question Number : 34 Question Id : 7894847283 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

“Gottiprolu™ 1s in the news recently because
PBiEren B8 Sowohod Tded® DB

Options :



Human settlements were discovered

- Hrd esraren Sidassd

Uranium reserves were discovered
$00RAcHo Hgaren EfPdndsd

Skeletal remains of a Dinosaur discoverad
g 28 e@ddspen EHRPEEES

Both (a) and (b)

L w @) B0 @)

Question Number : 35 Question Id : 7894847284 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Shaala Darpan Portal is of
Ter B5H @ﬁgﬁ B8 HoxohodHs
Options :

uGcC
502t

Navodava Schools
ISR aten Svlay

Agricultural University
SgRarod Do

3. ®
Banks
\ eavéegﬁ:a

Question Number : 36 Question Id : 7894847285 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Hornbill Festival is associated with one of the following states
DS Hothil S G“{%[“gjg HonohHoddd



Options :

Manipur
HoBzird

Tripura
B8

Meghalaya
ShrecH

Nagaland
Peros

Question Number : 37 Question Id : 7894847286 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

“Tetralogy™ 1s a study of
Bigred HB eagiscido S508

Options :

Birth defects

- @mﬁé&ﬁ Slajl ety Hoareen

Weeds
Bensd) Sngen

Micro Organisms
‘éﬁ%ﬁ@ﬁa

Fishes

4% DHen

Question Number : 38 Question Id : 7894847287 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Cereals belong to the tamily
grargen( Cereals ) € Hénoerd8 JoHID



Options :

Apiaceae

9205 HED

Caesalpiniaceae
ﬁ)‘cﬁ@u}ﬁdﬁ%cﬁw

Graminae
4 W&bﬂ

Solanaceae

SPerSdh

Question Number : 39 Question Id : 7894847288 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

“Satyameva Jayate”. contained in the national emblem. 1s derived from
ees erfiod ﬁaﬁ“&oéﬁ&- "‘Eﬁéﬁﬁ)oﬁ 22093 B HHod Holidromh

Options :

Kena Upanishad
B 45055

Katha Upanishad
Sor 650558

&
2. % -

Aitareya Upanishad
0SBAH SHDDER

£
—0

3. %

Mundaka Upanishad
Snotss 55

Question Number : 40 Question Id : 7894847289 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Great Indian Bustard is a as per International Union for Conservation of
Nature (IUCN)
@oéo;@% BHE)8 HOBEes D80S (D50 28 ¥ @& (Great Indian Bustard)

Options :

Extinct
| % @o88od8fond =8

Critically Endangered

SHore wosBoNE D) =8

Endangered
X ©08000EFEY) =8

Vulnerable
. 208800DNE08 oNsEing) =8
4.
Teaching Aptitude

Section Id : 789484219
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 10
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 789484268
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7894847290 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Main purpose of giving home work is that the students.
z08 O sskto ang) (Heed éééﬁg@, :‘:’C]CF%@%)BJ

Options :

Remain busy at home
508 $ HVE® VoD Gokerds



Study at home
208 58 SBS8

Their progress can be enhanced
0 (HH80 DorrohoBHEN

Develop the habit of self study

P 2RAD ©EEoHE weomriks DosroBoSERS
4. ¥

Question Number : 42 Question Id : 7894847291 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

On the basis of summative tests, a teacher 1s interpreting student’s
performance in term of their wellness life style evident in behaviour.
This will be called.

DsvBod Sregosl ;’Jége_} HBacey esgreBore, 2.8 ﬁ%ﬁgﬂé@i}]tﬁ] &mvéégﬁ} o)

H55856° 8020d @ﬁﬁﬁéééﬁé A5 Drd Vap)Bised oesgrslosSeel) aer
DERBS.
Options :

Continuous and comprehensive evaluation
QDBoSY DB sorrergoBidsin

1. ®
Norm-referenced testing
Wl e

. W (23&37mea eargebed ﬂﬁg
Criterion-referenced testing.
il ATy il

s o ey mﬁgﬁé esrebies n}éé
Formative testing.

oo
L% Hraies mﬁé

Question Number : 43 Question Id : 7894847292 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



To raise the achievement standards of students in education. it is necessary.
D5E° Heow e Srowd) DoBEENE eSHEDS
Options :

To evaluate students continuously

L E)mﬂag{j{%ﬂ Flelel:Tel a’)ma%oééa'm

To give high salary to teachers
Gargained epforr daven aiito

To change curriculum
ardgedEd (88%eoi) drto

To construct good school building
ol srBEre Farael)) QBjoE 0

Question Number : 44 Question Id : 7894847293 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A successful teacher 1s one who 1s:
DescHBdos S Gargrsainiidne :

Options :

Compassionate and disciplinarian

» DEBahe Hbckn Exodgeiiomt.
1. ¢

Quite and reactive
&F°Hore sotr (HBSBe Sdathidert

Tolerant and dominating
Hirdded Hbcn @psSEEE Koo,

Passive and active.
) Horr Sotar 5HHESH0 Srearth

Question Number : 45 Question Id : 7894847294 Question Type : MCQ Option Shuffling : No Display



Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

A Teacher’s major confribution towards the self-realization of the student
1s affected through.
2.8 apye ﬁé&“p oHrRSH DodroboStods? Gargrgaing Siesedo (Hgrdore

ze° &0tnoh) :
Options :

Constant fulfillment of the students’ needs
Do wSdoeein VosBorr SoFHsaEo

1. ®
Strict control of class-room activities
SERSHG Bogoidh sd5ore doboGodto
Sensitivity to students’ needs, goals and purposes
- E.’Jr:rc;stj@)ej ©NITOR, Harge, ﬁé%’“’gtﬁé} @goéﬁngﬁééo
Strict reinforcement of academic standards.
Qe N eshendssto
4, %

Question Number : 46 Question Id : 7894847295 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct with regard to relationship
between syllabus and curriculum?
D00 (HerdE (oad) Db DoegHerds (365Heomw) o iy Sonogei)y

Koo BBH (DHSH0 :
Options :

Syllabus is a part of curriculum

- DD [DeerEs E}m@ﬁ’.ﬁw@é@ﬁ aitale)
1. ¢

Curriculum 1s a part of syllabus
o (DHeeedE Daadh SeRES° o

Syllabus 1s an annexure to curriculum
DD (DeerdE DogRderiED edaodo



Curriculum 1s an annexure to syllabus
Dogierds DRAD (DerPESH wihaoio

Question Number : 47 Question Id : 7894847296 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The students who keep on asking questions in the class should be
S51588° S85re (B ©&0 Sﬁmgdﬁg@@

Options :

Encouraged to find answer independently

 dadore Kirgraren B8N0 @S iromed
1LY

Advised to meet the teacher after the class
S508 Fess &omges Ecﬂ“qu:“_ﬁdi))ﬁ)& Eodshaed)

Encouraged to continue questioning
BB)oseeR)) (EFSEroTed

Advised not to disturb during the lecture.
SHOTLI0 a‘pr‘,'.iéeﬁﬁ et080 EQoSoetsd) Srdowed.

Question Number : 48 Question Id : 7894847297 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When a normal student behaves in an erratic manner in the class. you would.
a8 évmvéaa&“:mﬂég 518 KOS ergeden [HHGEH 5080555 D 3@&}30& :

Options :

Pull up the student then and there

| @ﬁ”.g@é? @é&é K]mtggﬂ 2cheHE HodEo

Talk to the student after the class

SERS So=d éjmcgg&ﬁ Bt eitisin
2.



Ask the student to leave the class
e ajmtﬁgﬁj S telats a}&me@aﬁamo

Ignore the student.
& Dogd é%ofﬁﬁﬁéﬁ?‘ﬁaﬁéo

Question Number : 49 Question Id : 7894847298 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A teacher’s most important challenge 1s :
2.8 earprsoing ([Herdore ﬂfﬁjﬁ“@ﬁ Haren :

Options :

To make students do their home work

. Ejmgﬁsfﬂﬁg@ﬁ =0BH0 DowoSsio

To make teaching-learning process enjovable

|, Bes (B exgigso dobiio
2.9

To maintain discipline in the class room

. Efetate Wafatol Bso8geein JoBenio
3.

To prepare the question paper

| BESed Sabeth Sahiso
4.

Question Number : 50 Question Id : 7894847299 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Maximum participation of students is possible in teaching learning
though:

eﬁﬁfﬁnﬂa’%ﬁé [HBHE é']t:}c;s%)@ wﬁ%ﬁé}gﬁj& 0) B85 a9 aﬁcge‘ia :
Options :

Discussion method
oy DESEs
w G



Lecture method
ST é@é}%

Use of Al_ldi?-i'isual aids
& -FHes S Paradsore AVGEHo

Activity based method.
é@@@mﬂé écge':%

4.9

Physics
Section Id : 789484220
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 50
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Question Number : 51 Question Id : 7894847300 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The value of the line integral
(j) yzdx + zxdy + xydz 18

(iiyzdx + zxdy + xydz G0 e Hdrdod Dend
Options :

1. ® 3



Question Number : 52 Question Id : 7894847301 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a rocket. fuel is burnt at a rate of 10 g/s. If exhaust velocity of gases is 8000 m/s.

the thrust acting on the rocket1s
2.8 oatS &° moddm 10 (e /2 B TP vododaliod. &l 3 HerchH

S 3K Dend 8000 &b /D mowd, ooas 2 e ededn
Options :

80N

L@ 80 &g

800N
800 Knueg
2
8x 10° N
3
3 % 8x 10 ﬁjﬂé
8x 10 N

. 8x 10”’;6}15

Question Number : 53 Question Id : 7894847302 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the radius of the earth decreases to half its present value. without altering its

mass. the duration of the day becomes
g8 (B$5oe8S° Sty Bhowe wed Ty (8370088 DenHS® Hrrdd éﬁﬁjﬂ,

2,8 Boardh VY HotrenotIeon.
Options :
12 hrs

L% 12 Hoésen

8 hrs
, » 8 foden

6 hrs
6 fotien



4 hrs
4 Hoten

Question Number : 54 Question Id : 7894847303 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s not Kepler’s law
& (8o 8% 0B 8456 VohHdm o
Options :

Law of areas
JFerge  Dohasin

1. ®
Law of volumes
- DHB e DcDandin
Law of orbits
¥e) Dobauan
3. % e
Law of periods
L% 308% seesine Dabshan

Question Number : 55 Question Id : 7894847304 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

If L, 1s the length of an object and T, 1is the time of a clock measured from rest
frame, then their corresponding L and T when measured from a frame moving with

velocity v are (c 1s the velocity of light).
2.8 DEP0s J|Ldwdidbod L,sobdin Tren i e 5% eres

HB KBCSH srodn @ondsSe, 1 AKSna® Ethenddid) S|gsin ob ad
Qenxden L s08cn T en

Options :

I=ls /=P ld & T=
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" L= T=T, -\,‘1—1’1 es
2.
L=L, §1-v'/c" & 4 Il 1
3
L= fi—vled & T=T;
4. %

Question Number : 56 Question Id : 7894847305 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0

The phase difference between two waves represented by v=A sin (wt - kx) and
v=B cos (wt - kx) 1s
y=A sin (wt - kx) and y=B cos (wt - kx) e BothH SBorre 505y SB35

Options :

1. % /4

2w T2

Question Number : 57 Question Id : 7894847306 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0

At resonance the amplitude of vibration becomes
@S DY EodHN DBS aoe HrHHoh

Options :
Small
2TV

1. ® =
Large
Blevaihay



equal to mitial value
3 % &0 DendHdh HDHrEHSn

average of natural frequency and external frequency
e $08050 ey TR HdgBne Hoehs

Question Number : 58 Question Id : 7894847307 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If a simple pendulum of length ‘L’ is set up in a lift which has a downward
acceleration ‘a’ grater than “g’. then the time period of oscillations of the

pendulum is
ey Sctiseain ‘g’ Bo8 5y &t ‘a’ & e8iopore Ethendhal)

a8 @géﬁ ‘L’ &rEHke ofnsleogbnd CTasa) e T eaifersin @BnE) 98D
S50

Options :

. T=2n./L/g

1.

T2 |
) aXg
T=2n |-~
" fatg)
3.
T=2% |
. (a—g)

Question Number : 59 Question Id : 7894847308 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0

When a vibrating system is subjected to an external periodic force. it is said to
be ina state of
2 e HH5% epy N8 aerd8 1Hd IS5 s Ko d

:?J i) Z —= [} [

Options :



Forced vibrations

, DEPE) S EPeraren
1.v ¢

Natural vibrations
) % R EPemeen

Damped vibrations

@6’363%5} EBeraeen

Fesonance
@anaetn0

Question Number : 60 Question Id : 7894847309 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0

For a string clamped at both the ends. the frequencies of harmonics are in the
ratio
BoH FHe DAoSasS &t SoeglE IPHTge A8

Options :

L 1:2:3

Question Number : 61 Question Id : 7894847310 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0

A bar fixed at one end has first and second overtones of its longitudinal wave
propagation in the ratio
a8 Ja) ARoDEH é%cﬁf’ 55588 Bod e 3G 5 STBONHNNG Intid HdAtn

Boisd @8 Soren & (Bob E'C.l‘f.]tge_}éﬁ &S0LoW.

Options :



Question Number : 62 Question Id : 7894847311 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0

Two vessels of equal volume contain the same gas at pressures P; and P; and
temperatures Ty and T2 respectively. On joining the vessels. the gases reach a
conunon pressure P and a common temperature T. The value of P/T 1s

JEFH odHbSrenen Ko Both arBod® 28 arainsdid SHidoeen P

80 P2 en, &8fHSen T1 5080 Tz enre EOA 65)9. e Both ah@ed
EDHHS® esarcinden BH Shle SHedsn P Hobdin &6 SifHS T en
©ondSP, PIT Dend

Options :
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_+ bt
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Lo 26 T
BT, +AT,

w ath
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Change in entropy expressed in K cal / K. when 1 kg of water at 100% is
converted into steam 1s (taking L as the latent heat of steam and S as specific

heat of water).
2.8 86° (rrin D8O 100% 58 ©Hbrr Hrdy) SoBoDDHE JolE*HE™

Sy, Keal /K o6 (08 D8855m s e, Db sl J3nd L
e BHESSD)

Options :

Question Number : 64 Question Id : 7894847313 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0

Which one of the following is called * First Tds Equation”.
% 1800 &S B0 ‘BB Tds HE¥Smsn ” @othith.

Options :
Tds = CpdT — T' | dP
1. %
rds=q |dP C|—'r:fV
2. # Ve
Ta's—CdT+T| | dv
3.
Ids—CPdI+I|‘f—P: dT
c¥ Jr

\



Question Number : 65 Question Id : 7894847314 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When a gas from a constant high pressure region 1s made to pass through a
porus plug to region of constant low pressure. it suffers a change in
temperature. This process 1s known as.

a8 araindn DBHS whHE 55D (@rodsn Hod 85D IR oo QBHH

SO DHESENIH ErOKHG w0 SRPHSS frtnBs) BB
Options :

Isothermal process
Ddarsfiie HBo%

Isobaric process
S8 DS BBcH

Isochoric process
D80 508 Hbirem [H1Bah

Throttling process

, v EBOOR (HBd

Question Number : 66 Question Id : 7894847315 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0

Adiabatic demagnetisation is a technique of achieving
28%0E DB0HIoBEBrmEn wsd % [Bod S BID FHoBHLK

TS
Options :

Lowest temperatures

- odren aafriden

Highest temperatures

o&HE SefKden

Saturation magnetisation

3 % H08)% @abIosEsmEn



Safuration polarization
R0dy) &HDdeasin

Question Number : 67 Question Id : 7894847316 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A body at temperature 1000° K emits a maximum energy at a wavelength
20.000 A® | If the Sun emits maximum energy at wave length 5000 A | what

would be the temperature of the sun ?
1000° K 68818 58 6&) o8 55 20.000 A% €504 BYssn Ko iy

48 SBorreod smpdin BHBLaNS, Jrtd O SEHKS 58 Sende 5000 A°
Stoil @G5z Stereth ©bs I8 EOA sotrom.

Options :
10° °K

, o 4000°K

, % 6000°K

Question Number : 68 Question Id : 7894847317 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Rayvleigh — Jeans law is the deduction from Planck’s black body radiation
law at
Bond-£5 Dohsudn S Bod @ X}Dcﬂ@oeﬁ’s 5208 B35 D88 DdHshan
o& Tratméod.

Options :

Shorter wavelengths

éé}é&’) Sdof 3t éém@ Eala)
i 8 ')

1. ®

Longer wavelengths
¥ &80 38 siwe HE
2. ¢ e “



All wavelengths

. o)) S8of 38 same 53¢

Mid wavelengths

. Sogy SBorl BY sdwe 5

Question Number : 69 Question Id : 7894847318 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The masses of Sun. black hole. white dwarf and neutron star are respectively.

Ms. Me . Mw and Mx. then which of the following is correct.
e85, B)R@EDm, é&é Hgeed sHbaso Hrgiérs aebe [Sdsorden HHme

Ms. Mg My £08¢50 My 08° Srd%) & (808 o88° 06 HB@id.
Options :

Mg > Ms> Mn> Mw

MS = }\I‘ﬁ.’ = 1‘:..11{; = }\IB

2.

Mg = Mg = My = My
3. ®
4 v Me>My>My>Ms

Question Number : 70 Question Id : 7894847319 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Formation of mterference is in accordance with the following
BBEBeEn B)HLE HODBH
Options :
Law of conservation of momentum

BESE D5 DcHTosm

1. ®



Constant amplitude
28 BoDHH [0S

2. %

Constant Phases difference

% BF° PSSO
3.8 @

Law of conservation of energy
- 48 Deges DahHiznsin

Question Number : 71 Question Id : 7894847320 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The condition for destructive interference of light reflected from a glass plate is
e Ho8 Hod Hordddsn 3obY 5208 Hoid D Daed H5BEGRINNL
QafHsnain

Options :

2ut Cos r=nAi
1. ¢

21t Cos r=(2n+1)A/2

2. %

2t Cos r=n/
3. %

2u Cos r=ni
4. %

Question Number : 72 Question Id : 7894847321 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Two coherent sources of intensity ratio * ¢ ' interfere with each other. Then

=08 BPde D8 ‘o’ EOAS Bob Dowy stod exdsre Mgy
DgBEBeadn 22B0ADD
Options :



1. ¢

Question Number : 73 Question Id : 7894847322 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A Single slit 1s illuminated by light composed of two wavelengths /;1 and

x'._z . The first muninmun obtained for /11 coimcides with second nmunimum for
x'._z due to Fraunhofer diffraction. The relation between 4 and A, 1s
e

f, 0B A, 8Borl Gop gen SDAS .8 088° 2.8 0¥ HDE
(HeeBolalBh, (FrSFiHE  QHESHH Hed /il &° BB Sootsd
50550, 1,8 DEES Borss IS HEYDoDLHD, 4 HBA
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Question Number : 74 Question Id : 7894847323 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0
The resolving power of a grating of width 10cm and number of lines per cm
6000 in second order 1s
0. 80 6000 Spen 605D 10 Do. &b Jten) EOAS a8 [BorH o)
Bo¥s @ggéﬁﬁj £)E5EsBes &aﬁagm
Options :
0.12x10°

1. %

, o 12x10°

22x10°

1.2x10°

Question Number : 75 Question Id : 7894847324 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0

The thickness of the quartz plate in a halt wave plate of a Lorent’s half shade
polarimeter 1s kept in such a way that phase difference between ordinary and
extra-ordinary vibrations is

e008d) @Eéaj}o‘fo grerBihesd &5 @gééoﬁ Heed 5"“%515 B D
rgrdes HBan earErde Sodare iy adk Sav Be5Em
Options :
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Question Number : 76 Question Id : 7894847325 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Leavo-rotatory optically active substance rotates the Plane of polarization from
the point of view of the observer is
B —(gsoes thPes(giess BOAD ?émvgéw T EHessesn 5088059

esgrEtornre &b &4

Options :
In clockwise direction
ﬁcﬁ(ﬁgﬁ‘}érw
1. ¥
In anti-clockwise direction
, 3368
2.9
0
3 % 180
gl
L% o0
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Correct Marks : 1 Wrong Marks : 0

The basic principle mvolved in optical fiber is

&z° H0éHHSD Horer BeEsm
Options :
Reflection

g SoBESS



Total Internal retlection

DoIrD @od: HoRHSHED
2.¢ =

Scattering
;’Jﬂéémép

Diftraction

L n DBESSD

Question Number : 78 Question Id : 7894847327 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If refractive indices of core and cladding in an optical fibre are respectively
K., and ;. which of the following is correct.
28 3¥ M, 080 Mo o5 SHdmr ¥ B)erE0ds) s %6 HBain
s8of & S84S5 e SPOR, <% Bod TAS° HH JBGTHH6.

Options :

Lo 2 i
1.»&"‘1{? ,-zc"f

a’ff{?r = ftff_".l.’
3 % a'”-:r{ ;”c"f

4. % .fucrg A g

Question Number : 79 Question Id : 7894847328 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0

Differential form of Gauss’law is
e fchshdn @) e BrHdn

( E= intensity of electric field, B = Magnetic induction. P = charge density,

J = current density)

Options :



| div E=0

5 divB=0

div B=u,J

L div E=uJ
4,

Question Number : 80 Question Id : 7894847329 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Energy density stored in electric field £ between two plates of a capacitor is
(E = Electric field strength, C = capacitance, =, = Permuttivity of free space.
V= potential)

BotH Barhed Bt Sy He DS é{éa’m E & Qend 5@5}3&6& #8 aro|tes
(E = esgd B8 B3, C=38rhab o) sossn, <, %é@oéﬁ
DBBIG, V=855m)

Options :

r2
| % CV
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Correct Marks : 1 Wrong Marks : 0



The Current (I) in an inductor of inductance L when magnetic energy (E) stored
in 1t 1s given by
L (28588 o (mbsdnd® wchaos €8 ( E) Dend aiiptd e Blsinlk
DeSgd  (Haesse Hendd

Options :

e
2

" NE/2L

2.
, % N2L/E
L V2L

Question Number : 82 Question Id : 7894847331 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0
Electric current in two parallel wires is in the same direction. The magnetic
force existing between them
Both HEross Bredt LAV ATE ) 28 HIS° ﬁé&ﬁs &3 Do gy
&) @oharod pein

Options :

Repel each other
2.8 TASES HEBOH Dot

Attract each other

2.8 rlS"EH @E‘-Qp‘éﬁdﬁné}
2.

Neither attract nor repel
88 058, VEHOHY

Depends on the amount of current
D e Denddp egrdHthid
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Correct Marks : 1 Wrong Marks : 0

Which one of the following represents Faraday’s law of induction

(E=induced emf. B=magnetic field. @ g- magnetic flux. I=length of

the conductor. v = Velocity, N= number of turns. I= Current)

= @Oﬁ 7880 0 @“5& [ﬁ}ﬁm LoD Senidsy, (E=[__§jﬂe‘_§ ﬂ}cﬁjpsant:le_)é e300,

B= ®0hJr0s FEn, @ p-ochod edoririn, I=aeseEs
ErEs, v=ardm, N= 5Hé Sogy, = DSy Dend)

Options :
" E =Blv
[Brﬁ =i
2.% °
d
E=N %5
3. ® i
d
E=-N gﬁ
4.9 o
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When an unpolarized light is incident on a transparent medium of refractive
index u the value of Brewster angle is equal to

BB Dmdn 1 BOAS el SBBEE AESEIN R @08 508 HEdn
BobBH BSYE S°n Dend

Options :

Tan! u
1v

Sin!

. Cos™? u
3.
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Question Number : 85 Question Id : 7894847334 Question Type : MCQ Option Shuffling : No Display
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Which of the following finding is incorrect in the investigation of thermal
spectrum of a black body radiation

éa%&ﬁ@é]gdm &‘ﬁ%@i} a’;ga’m 58808 BHfPEads & Bod A& 26
Qa0 =00

Options :

At a given temperature. energy is not uniformly distributed in the
radiation spectrum

2.8 SREKS B8, D8Bm SLHeIWE™ ¥8 HEbare S

At a given temperature. the intensity of radiation increases with increase
in wavelength and reaches a maximum Value at a particular
wavelength.

o8 SEENE 58, SBoi angcﬁnﬁﬁ DB &S Ddohdr a8 @’}égé

SBofl 38 55w DBord) Dendd KBLEHHRD.
oo o [34]

There 1s an increase in energy emission with the increase in temperature

corresponding to all the wave lengths.
@) Sdorl goe o H épé\g@é@iﬁ HE Srpdin DHEod.

With increase in temperature. 4, increase, where 4 is the wavelength at

L]

which the maximum emission of energy takes place.
Ay 50580 #8588 ewrd S8or @Y gHondHE ﬁéﬁé@f&ééﬁ A

- Eroe athrhdhob.
4.9
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When an electron jumps from 2%, 3% 4% .. orbits to 1% orbit in the

hvdrogen atom. the resultant spectral series 1s called
TGS SE5rHE™ Jdolges 285, 38, 45, ......... Selatuotulele

S0tsE) B5BINH HEDDE BenHa DB GE

Options :
Balmer Series
% ersnb |38
Lyman Series
BS (B
2.¢
Pashen Series
3 % év%g_ﬁ Lée%

Bracket Series

7S5 (B

4. %

Question Number : 87 Question Id : 7894847336 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0

The stopping Potential of Photoelectrons emitted. when a radiation of
wavelength 3x10”7 m is capable of ejecting photoelectrons from the gold
surface whose work function is 3 ev. is (h=6.626x107*JS, e=1.602x10"%¢,
c=3x10%my/s)
3 ev D Hahahdm EOAS orrds) Soo od 3x107m &SoX B8gam Ko
DEEasnd® ﬁm;ﬁo{ﬁaa&é &3 ﬁéﬁgﬂa{%é}@ et )50
(h=6.626x10*JS, e=1.602x10"c, c=3x10%m/s)

Options :

L% 1141V

L 1141V

3 @ 1.136 V

4% 01141V



Question Number : 88 Question Id : 7894847337 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The energy of a free particle confined in one dimensional box of length ‘L is
L’ &8 Ko D880 28K S80S0 a8 wam) Semdn Gk 8
Options :
nh

| Sl

nh’
.

% Sml

a y )
nrtht

3 % Sml’

(=]
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nh

3 9 )
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The relation between group velocity and phase velocity is

Horde 3o Hdc S S o S0y He Somoisin

Options :

v,

L B T
2.¥ '
L v, <,

.f'dr \'u_
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The following nuclear reaction 1s a

8 (Bob KraHb S8

1 i 1
L?+1H — L?'+ 1H
31 37

7 7
L ok oy
3 i

3
Options :

Elastic Scattering
BBFHE HOEHEID
& [ el

1. ®
Inelastic Scattering
©2BPHE HESHRHD

2v ©F -
Radioactive Capture

3 ﬁ{%{ﬁjﬂmﬂﬁéé [S)|iaTrenaing
Dismtegration

L% Deneariam
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If g of a transistor is 99 and the emmtter Current 1s 5 mA then. the collector

current is
2.8 (ErQ)0b ang) g Dend 99 HBAH AeB (HarsPdin 5 mA ©onHS
@ (B0 & (50D E855 (dariiesin

Options :

L% 10 mA

495 mA
"



99 mA

1 mA
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In case of a comumon enmtter configuration, the transistor to act as an amplifier

a8 (Er06 HEE ST HDDHnLH oD DSned Hobcin ¥856 Doghed
658 20erb e_a%ea@ﬁ oD Dok DSEn

Options :

Both emitter and collector junctions should be forward biased
Both Sogherd (Ddhes Hdatn E856) DB° -éé&émﬁﬁ Benaisain

Both emitter and collector junctions should be reverse biased

Db FobBcsn ¥BEE Hoher aﬁﬁﬁééaﬁméﬁ EenHdaido

Emitter junction should be forward biased and collector junction should
be reverse biased.
DEtE HoRA HBFKXNS® Hrbatn EBEE Jop BB IHFWE® Bew

Lo 55T

Emuitter junction should be reversed biased and collector junction forward
biased
Db HoHR BB FFNE® Knbasn EB56 Dok HB FKFnE®

Bendddin
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According to De-Morgan's theorems a NOR and NAND gates are equivalent to

EEPES HrpodnesntBod NOR $8aHn NAND g Sesdd fey Stibdm

Options :



NAND and NOR gates respectively
NAND 8050 NOR Réxn

Bubbled NOR and bubbled NAND gates respectively
antsd NOR 08050 aniis NAND Rép

Bubbled AND and bubbled OR gates respectively

. a0 AND 508050 a0t OR Réw

Bubbled OR and bubbled AND gates respectively
a0t OR H8c%0 andy ANDRén

Question Number : 94 Question Id : 7894847343 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The wave length and equation of matter waves are respectively associated with
(5855 SBorren SBok nﬁ_g} 50 $08cin Sed H&ESmSnen SHdr & (Bod 08
HoaofodHk
Options :

Schroedinger and de-Broglie

(ErB0oKE Hbcsn &leeh

1. ®
Heisenberg and Schrodinger
rdend SHbdiw (Er&okd
2.8 & e
Schroedinger and Heisenberg
2 % (Er&onrd $Botn S
De-Broglie and Schroedinger
i Eerh B0 |Er8oiks

Question Number : 95 Question Id : 7894847344 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The quantum mechanical operators for energy and linear momentum are
Respectively
38 0Bciwo BdaHh (el Sifaoe GhE) seoéien Airo(@E HB|EcirsSiinen

HBHMe

Options :
: .
-1AV ; -1 —
-1h — 1AV
2. % O
: &
—1hV 1h —
3 % ot
I | .
h— - 1AV
4 &t

Question Number : 96 Question Id : 7894847345 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not the correct form of Heisenberg's uncertainty
principle
& Bod oS 0B S af ©B)E DHHIWD  FrdHoB.

Options :
1 % Ax X APx~h

) # AEX N
3. AT X At

4 % ATX AB=~h

Question Number : 97 Question Id : 7894847346 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The hexadecimal equivalent of a decimal number 2479 1s

Saeod Hogy 2479 B Heshd s Boand Sogy



Options :
.« FA9

, % AF9

9 AF
3.¢

, % 9FB

Question Number : 98 Question Id : 7894847347 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

One gram of radium 1s reduced by 2.1 mg in 5 years by ¢ - decay. The half life
period of radium in years 1s
Q- B8 Eobdn S 1 (rrdm BéEabo b Jo. of° 2.1 . S/
B&a%o ) o3 £D%o srodw Ho. odf
Options :
| % 1972

-q
, o 1650

Question Number : 99 Question Id : 7894847348 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
The Miller indices of a plane, which intercepts the crystallographic axes at 2. 3
and 4 units respectively, are
ﬁﬂ&é&ﬁ}}@’s el erel dedn @sgro 2,3 Sbdo 4
(B8mere E{}r:mé Pofoddh @ Swo g foeb Trdsen
Options :
LY (643)



2. %
3 5
.« 828
o B o)
4. % 242)

Question Number : 100 Question Id : 7894847349 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0

The material which has negative temperature coefficient of resistance is

& [Bob 7BS° OB e ﬁéﬁéﬁ@v D885 s EOASH

Options :
Metal
| % BsrEw

Semi Conductor

=8 TrarEan
2. % W

Insulator
, % DOBESD

2 and 3

2 50Bcin 3
4.9
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Question Number : 101 Question Id : 7894847350 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Heisenberg’s uncertainity principle is not applicable to
oS0l ©dBELy Johdn B08 HBoSH?

Options :
A particle of mass 107%°g

. 107%g & ($aoe8 e Eewo

Electron

5 % @m{gﬂgﬁ

Neutron

. W@E

A particle of mass 1 g
» 1 g B&50e8 He Beo

Question Number : 102 Question Id : 7894847351 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following statements is correct regarding the scattered

X-rays, when the monochromatic X-rays are allowed to fall on carbon?
E}éa’ag X- 88mroi 5280 S8 HEHHH éﬂéﬁ}oém&fﬁ X- 88wrolh

5020007 808 DHBHmOS® Db JBTHE?
Options :

Scattered X-rays have lower frequency than the incident X-rays.

HBEH X- Bewen, D88 X- B ol SES %"263?’.9]?650 EOA Sotran.
1.¢

Scattered X-rays have higher frequency than incident X-rays.

0B85 X- 88ewen, D85 X- 8o Bodl 8D é’f"ég‘f@@o EOA &odmom.
2. %



Incident X-rays and scattered X-rays both have same frequency
DSED 0B D885 X- Bewen, 28 é’)"fﬁ:@&‘)@@ EDR Soton.

The scattered X-rays are a mixture of (1) X-rays having same frequency
of the Incident X-rays and (11) X-rays having higher frequency than the
incident X-rays

5885 X- 88een, (1)588 X- 88ered® BE=S Trideadisgo He X- Beren

soBasw (1) HSD X- 8Bere BoB 8D Fdedidgo Ho X- 8bere Sn(Esham.

Question Number : 103 Question Id : 7894847352 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The hybridization of N and P in [NPCI, ], 1s respectively :

[NPCL]LS® N £8din P e $o8b8seren b

Options :

| % Sp -, Sp

Question Number : 104 Question Id : 7894847353 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The correct order of stability of (a) 0,. (b) 05, (c) 037 1s:
(a) 05, (b) 07, (c) 07 © JBIH RBE: (Edasw d&?
Options :
b>a>c

1. ®

=D =
2.&?31:- C



c>a>b

a>c>b

Question Number : 105 Question Id : 7894847354 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Identify the correct statements from the following.
Bob 78" HBG@S DBdme MHbohd.

(1)  CaC: has NaCl type of structure
CaC> % NaCl 508 Joyesngd.

(ii). Cs reacts with water gently.
Hasd Cs é}e}ﬁﬁja‘éjrw S0t

(111). The correct order of covalency of halides of Iithium is
Lil > 1iBr > LiF > LiCl
Dbcho F8ke HBSHH Ho@redohs [Eosn Lil > LiBr > LiF > LiCl

(1v). BaSoys on heating with carbon gives CO gas
BaSo4 & =8)0&° SBIVBHL, CO seemDH) R,
Options :
1. 1v only
11V S
1LY

Ly i i Sl

1, 111 only
3 % i, 1l oe(essh

i1. 1v only
i, iv SHoeEssh

4, %



Question Number : 106 Question Id : 7894847355 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs are correctly matched?
Bod zoted® O 0P e 8ErESD?

Oxide Property
SENA alefle
(1) Bi, 04 Basic
e
(11) N,0 Acidic
o
(111) PbO Amphoteric
B3 3egrad
(1v) co Neutral
56030
(5]
Options :
1, 111 only
1, 1ii Hr8sh

1, 111, v only
i, iii, iv Soe(e8ah

i1, 1v only
i1, iv Hoe(edsh

1,11, 111 & iv
1, 1i, 111 9B 1v

Question Number : 107 Question Id : 7894847356 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Acid “A” reacts with Fe50, and forms salt “B” and another acid
“C”. Acid “A” also gives acid “C” on reaction with KI. Acids “A”
and “C” are respectively:

8500 ‘A’ & FeS0,385"08 odmo ‘B’ s0bain HE%E eiho ‘C'eid

{ﬁq‘jﬁ)éjél esapadm A’ KI &b S0l B espsin ' C cudob.
eaxdren AT Bcin CT en HH(e

Options :

- H:505 . H: S04

) % H> 504 . H;50;

3 ¢ H:5:08 , H:504

" H>5:05 | H2503

Question Number : 108 Question Id : 7894847357 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct?
Bob DEBrees® HBGHD 2O ?

(1)  XeF, reacts with water and liberate oxygen.
xeF, sk $85P08 edmddH Jbhde Sdsni.

(11) Inter halogens are less reactive than halogens.
Bb:Se BoB wod:telate 50@%&}& SERID.

(111) XePtF, is a green solid.
XePtF, o530 a’néﬁmﬂgaﬁ})

(1v). ICI3 1s isostructural with BeCl,.
ICl; 8050 BeCl, o Jindogemedn Soth.
Options :
1. 11. 111 only
i. ii, 1ii Soe(Esh



i1, 111 only
ii. 1ii Hoeish

1, 1. 111, 1V
1. 11, 111, 1V

1.1v only
1.1v Ee(Esh

Question Number : 109 Question Id : 7894847358 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Copper reacts with cold and dilute nitric acid and gives nitric oxide.
The mole ratio of copper and nitric acid in this reaction 1s :

=28, S0 Hbcn DS JBE wshos® St Fod JBE «HED

2. & SGE° 5206, JEE odipe DG Dos?

Options :
1:1

Question Number : 110 Question Id : 7894847359 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following 1s not correct?
Bod =BS° D6 $BIHE soH?
Options :
The structure of boron nitride is similar to that of graphite.

g &ors JBE Voo, (raed Vol 880 sotnob.



Silicon carbide is a covalent carbide
Silicon carbide a.¥ 8%r80t5 53 )&

Silicones are good insulators
2085en Hod woissren.

The number of B-H-B bridge bonds in B,H,, is 2
B.H,, &® B-H-B 88 aopre Qogyg 2

Question Number : 111 Question Id : 7894847360 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The more stable oxidation state of ‘Au’ 1s:
‘Au’ Go¥) 0p BP0 w8 Esn 8 06?7
Options :
I

1. ®

Question Number : 112 Question Id : 7894847361 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :



Identify the correct statements from the following

Bod A& BB DB HBoHED.

(1). The reaction of lanthanides with hydrogen 1s exothermic.
B8 crofbe S8 &3P SESD.

(11). Lanthanide ions have low charge density.
roPIE waiESen S5 @5d oS EOA sotran.

(111). The actinide 1ons with exactly half-filled f-subshell are colourless
Sifo Dokl f-a588)Bo &) ©836 wcirSe Sorh 8.

(iv). Actinides have much greater tendency to form complexes than the
Lanthanides.
erofdEe BoB u83Ees Sofspo GBS (BB LS.

Options :

1,11, 11, 1V
1.

i, i1 only
i, ii Hoessd

1. ii. 111 only
i, ii, 1ii Sorssh

i1, iv only
ii, iv Soe(e8sh

4. %

Question Number : 113 Question Id : 7894847362 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following
(Bob ol exedhHdhadm.

ListI List II
05 1 by II
£l ea
(complex / complex ion) (EAN)

0B [So8y @dirs

A) [Fe(CN)J~ i 33
(B) [Cr(CO)q] ii 34
(C) [CoCL)* iii 35
(D) [Ni(CN)]* iv 36

The correct answer 1s
2HBEHE JHrgrddim.

Options :
(A) (B) (C) (D)
% v iii i ii
(A) (B) (C) (D)
iii i iv i
2. ®
(A) (B) (C) (D)
iii iv ii i
3. ®
(A) (B) (C) (D)
iii v 1 i
4.

Question Number : 114 Question Id : 7894847363 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :



The magnetic moments of [FeF,]*", Ti(H,0).]**, [Cr(NH;).]*" are
X, v, = respectively. What is their order ?
[FeF;]*™, Ti(H,0)]°". [Cr(NH;)g]*" © escharos (gribseen S6&m X, Y, Z.
a8 (EHdn b?
Options :
x> Pz

1. ®

Z>X>Y
X E Y

%2 Yok
4. % ‘

Question Number : 115 Question Id : 7894847364 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which is class ‘a’ metal?
58 ‘a’ 8 Bodhd ko AB?
Options :
Pd

1. ®

Question Number : 116 Question Id : 7894847365 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of the following is the weaker ligand than NH;?

Bob &E* NHy 808 2o il Omrof 26?
Options :

C,0%"
1.V

NO,

. % CN

Question Number : 117 Question Id : 7894847366 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs represents enantiomers?

[Bob ad08® DB JarRErinbo Hrdinot?

Options :
CO,H CO,H
H——OH HO——H
H——oH 2" Ho——H
CO,H COzH
1. ®
CO,H CO,H
Ho——H and HO—|—H
CHg CHE
2. %
COsH CO;H
HEN#—H and  H——NH,
CH3 CHS

3.9



CH,OH CH,0OH
H+DH and HD+H

CH,0OH ChyaH

Question Number : 118 Question Id : 7894847367 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the nucleophilic addition reaction from the following.

Bod FES® SrETrHOE SoBed Ko HloSod.

Options :
OH
H,0*
R + H,0 /}\
1. ®
O HO_ OH
H.O"
)J\ + H;G 3—l--- ety
2.9

A, ., HBr ROOR e B
3 %
O (0]
i NH * HCI
)J\CI * /J\NHE
4. ®

Question Number : 119 Question Id : 7894847368 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :



Arrange the following carboxylic acids in increasing order of their
pKa values,
Bod o8 § edired 8 pKa evden DT [EHos® odod.

- -COH
. CH,CO,H Il. CgHsCO-H i, |
NG
Options :
- i > H =1
i > T >0
2. %
I > I > I
3. %
I > IO > I
4. %

Question Number : 120 Question Id : 7894847369 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An organic compound X (C4HoBr) on reaction with alc. KOH gives
only product (C4Hg). Reaction of X with HB1i/ROOR gave Y. What
are X and Y respectively?
X &5 a8 éij':,-fé 53:3&‘360 @@éﬁi)g KOH &° {5655“0&: 28 ﬁéﬂﬂg&?&
(C4Hs) =08. X HBr/ROOR & {5656’5 Y &5 adyob. X shbon
Y en d%Se wd?

Options :

Br

W W

)\,Br - 4\\81"



Question Number : 121 Question Id : 7894847370 Question Type : MCQ Option Shuffling

P

Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following reactions vield 2-pentvne ?

Bob o S8 2-2080& snob?

I Propyne

E¥pS

18 Ethyne
%35

Options :

| I i

, o Tl

3 % III. IV

Question Number : 122 Question Id : 7894847371 Question Type : MCQ Option Shuffling : No Display

i, Na
e e
i G;HEB!‘

i Nii |I'ul'l

ii. CyH-Br

Z2-Butyne

i Na

. ]

o3 ® . CHaBr
2 &.-.-'ﬂ o

1-Bulyne
1=-20380

i Na

—_—
i CH.Br

Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

: No Display



An alkyne X (Cs3Hs) on reaction with HoO/H2SO4/Hg”™ gave Y. which can also
be obtained from Z by ozonolysis. What are Y and Z respectively?

X @i a8 &3@@5 (C3Hy) & HQO.-’HQSDq,-"HgE:_ &b {:565635 Y & B)0b. Lo
5,E8%088mo Joho AL g Y &0 55"03.56’3{5)1} Ya08cm Z en Db 297
Options :

1. ®
i _
NN
K
2.
L . A
3.¢
O
\/JJ\GH . NN
4, ®

Question Number : 123 Question Id : 7894847372 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The correct statement of the following regarding reactivity of X and Y
towards electrophilic substitution reaction 1s

Bod 7B&° X Hboim Y o @ﬁ)@éﬁ)@g {{J@éﬁm xﬁogé&ééé) Pslel:alelalet A
588 DB 2B?

NH, NO,
X Y

Options :

X > Y: because of +M effect of NH> and —M effect of NO2

X > Y:NH, @& +M (Sgedo $bako NO, @ —M Sgeso $ed
1.V



X = Y: because of -M effect of NH> and +M effect of NO-.
X > Y: NHxaw¥) -M (grso 8o NO2 cwg) +M (Hgrdo Heol

X < Y: because of +M effect of NH» and —M effect of NO».
X < Y: NH)@w8) +M Hgrdo sobcin NO2 ang) —M [Hardo Hed

X < Y : because of -M effect of NH, and +M effect of NO,.
X<Y :NH> :ﬁ}]é@, -M (SHersio sobain NO2 r:iboé& +M Berdio Hed

Question Number : 124 Question Id : 7894847373 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify the correct sets from the following.

Bod 78S H5BE Bhdbei HBoSod .

I. Methoxy-------- o/p-director
S&}qﬁn% -------- G:"]J--E’Jé%éo
II. Chloro------------ m-director
s m- 8o
III. Cyano ------------ m-director
iTen 1 — m- 5550
IV. Carboxy-------- o/p-director
svt}vﬂé\] -------- 0.-"1)-?0@%%0
Options :
L I, III
I 7
2. %

I, IV



I, I
4.

Question Number : 125 Question Id : 7894847374 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The two reactions involved in the following conversion of X—7Y
respectively are

ol X—Y cﬁ}vﬁa:,{%éﬁ :ﬁvéj’@_ﬁotﬂ] SEgen DO

0
= — CO.EL
X Y

Options :

Clemensen reduction. Perkin reaction

8dbede §oh¥tmo, B ST
1. ®

Rosenmund reduction. Knoevenagel condensation

» B2S5508 EahEtmo, STBSmeS Homidso

Rosenmund reduction . Aldol condensation
5508 Eah¥seso, «*35&?55 Hosudhso

Stephen reaction. Knoevenagel condensation

" %335 585 S35rrd Hododdo

Question Number : 126 Question Id : 7894847375 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
Which of the following sets 1s with correct sequence of reagents required
to convert Cumene to o-hdroxybenzaldehyde ?
BoB aBS° JBowd HHD EBS O sesee HMS KegthS & G-EP@D&;,QDE%}E_FEW
SrhHnod?



Options :

1. O/A. i H;O7, iii. NaOH/CHCI;
1. ¢

1. HO2. 1. NaOH. 111. NaOH/CO»

2. %

; 1. RCOzH. 1. H>O. 1. NaOH / (CH3)2S04
. 1. O/A, 1. H30", 111 NaOH/CO,

4,

Question Number : 127 Question Id : 7894847376 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The conversion of aniline to fluorobenzene via diazotisation is known as

DS o BcHE*EESmo Txoe Bl SrSER) Jotrt ?
Options :

Sandmevyer reaction
FobhoHs 555

Gatterman reaction
mrebns 585

Schiemann reaction
Ss08 55

Hoffiman reaction
SoHa ntels

Question Number : 128 Question Id : 7894847377 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



An amine X (CgHyyN) when reacted with NaNO»/HC1 at 0-5°C gave a
yellow oily product Y. What 1s Y?

X o a8 2anS (CsHiiN) NaNOyHC1 &° S8 mreodne B Bord
e aod. Y 267
Options :
N(CH3);

2.

N,CI

T

CHj
CH,

Question Number : 129 Question Id : 7894847378 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
Identify the correct statement from the following.

Bod &S 5B DB HB0S0A.
Options :



Furan 1s more aromatic than pyrrole.

” oS B HB°S Bamy JEpD OB°SrAE Kxgrdo Gotnod.

Resonance hybrid structure of furan has partial positive charge on
oXygen.
Ie5oee OE°IN) EEE ?JDE@E&OES’S o8y 2 arfs STa¥o Sotnod.

The lone pair on nitrogen in pyrrole does not take part in aromatic

sextet.
DBSE’D IS D &) avokd QOIS 2208 2885 BE 28 46568

S

The electrophilic substitution takes place at p-position in pyrrole.

%8°6 @@@éﬁjﬁlg 855w 585 B-ﬁgéoeﬁﬁ 23008,
4. %

Question Number : 130 Question Id : 7894847379 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following reactions prove that (+)-glucose and (-)-fructose
has same configuration at C-3, C-4, C-537
Bob 35508° 08 (+)-rp8°E Hbain (-)-@ﬁmﬁaﬁeéﬁ C-3.C4.C-5 0 58
2.8 Dagrd)) BOA Gotrch amer) V%08
Options :

Reaction with Bry/H,O
Bry/H-O & fﬁfﬂé

Reaction with excess of HI
w68 HI & ey

Reaction with HCN
HCN &° oy



Reaction with excess of PENHNH?

 »fH% PhNHNH, &° afely
4.9

Question Number : 131 Question Id : 7894847380 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is epimer of D-glucose ?

BoB 7BS° 0B D- Kr8E 2256 ?

Options :
OH oH
O
oH~OH
OH
1. #
OH pH
O
HO
oH™OH
2.
OH
HO
OH OH
3. %
oH OH
HT‘O
4, %

Question Number : 132 Question Id : 7894847381 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following amino acids posses guanidine group ?
Bod D IS’ einos® mPES Hrsesn Sotnot?

Options :



Lysine

1. # Q‘%S

Valine
L« 305

Histidine

arnta
3 % [35]

Arginine
@835
4.9

Question Number : 133 Question Id : 7894847382 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The properties of two gases (A and B) are given below. What 1s the
value of x ?

8o aeddnae (A u8ac B) ﬂﬁm&m (Boes aa'iuga}mgc}:u. X Dend aods?

A B

P; 0.08 0.08

y ) 8.0 8.0

V; 40 X
Options :
L 40
) # 80
- 20
10



Question Number : 134 Question Id : 7894847383 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The vander Waals constants of a gas are a= 0.3 L? atm mol:
b=0.02 L moll. What is its approximate inversion temperature?
a8 sy arotd ard ?80‘305“@, a=0.3 L? atm mol;

b=10.02 Lmol". o d&%5 &8fs Dos?
Options :

% 266K

L 366K
2. ¢

405 K
3. %

L% 466 K

Question Number : 135 Question Id : 7894847384 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The first order (n = 1) diffraction peak of a crystal was observed at
0.154 nm. The value of 815 : ( A of X-rays = 0.154 nm)
a8 905D Sndd &HHsso %‘Sé DB 55 (peak) 0.154 nm Eﬁcg 3}60}&0&.
B Dend wo8? ( X-B88wee A =0.154 nm).

Options :
sin’}(0.154)

sin}(0.5)
2.¥

sin (0.154)
3.

sin (0.5)

4. %



Question Number : 136 Question Id : 7894847385 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the correct statements from the following.

Bob BSE® HBGH argaged HBoWH.

(1). Germanium is an extrinsic semiconductor.
Eé@ﬁdﬁno a8 extrinsic (R&0@8) efarirEsn

(11). The coordination number of Na™ and CI" in NaCl structure 1s (6.6).
NaCl ﬁm&moeﬁﬁ Na"#basn Cl e Ssdieh Somyg (6.6).
o 4

| 24 )

N

(1i1). The Bragg equation is, & =sin~

I
@R $&8Besn, O=sin"| §|

(iv). In orthorhombic lattice. a =p=v =90°.
2.8 §HSH eoerd wredod’, a=p=y =90°

Options :

1. 111 only
i, 1l Seiesad

1, 111, 1v only
i, iii. iv &oeledah

1. 111. 1v only
ii, iii, iv &om(esh

i1. 1v only

4 o L1V Soolesah

Question Number : 137 Question Id : 7894847386 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



A solution contamning 5 g of non-volatile. non-electrolyte solute
dissolved in 0.1 kg of water boiled at 100.433 °C. Another solution
contfaining x g of same solute dissolved in 0.1 kg of water is added to
first solution. The resultant solution boiled at 100.3466 °C. What is the
approximate value of x in g? (Kp = 0.52 K kg mol?)

5¢ @g}ﬂ@%ﬁ}, Sl @rﬁ?{g Ds5m 0.1 kg H88° 884 &) [oraeasio
100.433 °C 5 $0BRoB. xg © of Essw 0.1kg HBS° oA &
[oraded)) S0t el EDart. 29D [rdesn 100.3466 . aln)

H08R0B. x Dend Hdrdrr g o8’ Jos? (Ky = 0.52 K kg mol ™)

Options :

Lv 3

-2

Question Number : 138 Question Id : 7894847387 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the boiling temperature (in °C) of 0.01 molal solution of non-
volatile. non-electrolyte solute in CCly ? (boiling temperature of CCly 15

y %C. Ky of CCly =5 K. kg mol)

0.013rers wgripyde, ©dExs D rdstng CClL rdnsn HbH S8HKS
(C 0&°) Qo8? (CCly Hotutd &&fKs y °C. CCly @ Kp =5 K. kg mol™)

Options :
F 4+ 5
L y + 0.0:
Fes 5
)% y—0.05
y



Question Number : 139 Question Id : 7894847388 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Negatively charged As,S; sol can be precipitated by the addition of Na™
ions. One litre each of As>S3 sol i1s present in four vessels (A. B, C. D). 0.1.
1. 25 and 55 millimoles of NaCl was added into A. B, C . D vessels
respectively. In which vessel (s). the sol gets precipitated. (Flocculation
value of NaCl is 52 mmol L)

ane @ado Ko AsS;ardH Na’ edirSeid 80D efgdo eRoBHI.
Teenth argos® (A, B. C. D) a.8%8) Heath AsS3 FS aqbh. A.B.C.D
arged® SHsme 0.1, 1. 25 Sbcto 55 DS NaCl &5 EDarth.

& arlE (0) & ré wgHo Dot (NaCl BwE) &85 Hens 52 mmol L)

Options :
A.B.C.D

1. %

D only

, o DErEd

A.B. C only
A, B. C &r(&sh

3. %

A. B only
A, B #r(85D

4. ®

Question Number : 140 Question Id : 7894847389 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :



X and water form an immiscible mixture. It boils at 95 °C under a pressure
of 730 mm Hg. At 95 °C. the vapor pressure of water is 724 mm Hg. The
weight of X in the distillate 1s 10 g. What 1s weight (in g) of water 1n the
distillate? (Molar mass of X = 120 g).

X $08c5m H% 2.8 eoEdod | BaR) aByHaron. S SuEddm 730 mm Hg
hsso B8 95 °C 58 otoibehod 95 °C 58 OB araphesssn 724 mm Hg . s
(B0 X ge5010 g .'{Soéfﬁ (B5068 DB grdo (g of®) Dos?( X3rerb gr80=120 g).

Options :
o 181

, w 181

362

3. %

36.2

4. %

Question Number : 141 Question Id : 7894847390 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

At T(K). the time taken for the completion of %‘h of a second order reaction
(24 — products)1s 10 min. What will be the time (in min) for the completion

of %‘h of same reaction at T(K)?
T(K) &8, 2.8 Bo&s [EiroE 38 (24 — [Bolrasagen) % & HoeH Hrd seerds

S SHadS> 10 min. o3 S5 TK) 3¢, + 5 Sob Fros-serds 5
Hochdn (min o &%) Jos?

Options :
. % 40

, » 80

3 @ 160



Question Number : 142 Question Id : 7894847391 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The following graph 1s obtained for the reaction (2.4 — products). The

slope and intercept of this graph are respectively: ( x=/nc ;v=nr;

n = order ; k = rate constant, ¢ = concentration, r = rate)

2.8 385 (nd — (Botraayen) B Bod [rh ododod. [rH @0 sren B
wodpotiaren dHe : (x=Inc ;y=Inr n = [$Srossdn, k= Béw goroto
¢ = meiés; 1= Btw)

y
A~
e
]
/f'f —t+— slope
ik | Ry
intercept .
encdd 3 godt Fain
> X
Options :
Lw n,k

s Imn Ink

n Ink

Inn, k

4, %

Question Number : 143 Question Id : 7894847392 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



At 300 K. one mole of an 1deal gas of 100 L volume was expanded reversibly
under 1sothermal conditions to 1000 L. The work (w) done and change in
internal energy (AU) are :

300 K&8 =8 a7 etdmraing 100 L ndh88rmo Hod ﬁ@&é}fﬁdﬂ){jﬁ éﬁﬁ@%@@ﬁ
1000 L & at;sgﬁxﬁo JoBdh. =BA% 5V (W) Hboin eosdE 4B sty (AU) en
)08 ?
Options :
R R

2

w=—— AU=-—

 690.9  690.0

w=—R0690.9 [AU=0

2.¢
w=—-R 0909 : AU =—-R 6909
3. ®
R
w=——— AU =0
4% 690.9

Question Number : 144 Question Id : 7894847393 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
At 25 °C. the solubility of AgCl (molar mass = 143.5 g) in water is 2.4 x 107 g dm™.
What is the specific conductance (in S m™) of saturated solution of AgC1? (molar
conductance of AgCl at infinite dilution is 138 x 10* S m? mol™; Assume the
specific conductance of water as zero)
25°C 55 H86°, AgCl Breb gedo = 143.5 g) oddaps 2.4 x 107 g dm™.
AgCllo8)e [oodemsd 83 ams8s (S m! o) Do8? (ebos 9bFo o
AgCl 3rob arsegs 138 x 107 S m” mol™: 88 D8 arirss 5 «d
08 uan)

Options :

~ 23= 104
1.V

23x10°
2. ®



Question Number : 145 Question Id : 7894847394 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The potential of calomel electrode depends on

sei 35 &}@@E g0 39 & wgrBHé sotnod ?
Options :

concentration of KCl1

- KCl e o

quantity of Hg
Hg (&5550°8 2

concentration of HC1
HClregis 2

concentration of AgNO3
AgNO; i o

Question Number : 146 Question Id : 7894847395 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a photochemical reaction. the reactants were exposed to light of
wavelength 500 nm. If 10 J of energy is absorbed. calculate the number
of Einsteins absorbed by reactants (N = Avagadro number: h = Plank
constant; ¢ = velocity of light)

2.8 5008 SJrchHid 15(55635, Baradstom 500 nm o $80i g4 so Ke 5208&°
sowrth. 10T o 48 §%hmo BobS, 8°4mo mdosSag Einsteins o Sogg

880808, (N =wdrrE Sogg : h=arof Hrrofdin : ¢ =sr0&30)

Options :



" 500
500
, « Nhe
5000
3 Nhe
Nhc
4% 5000

Question Number : 147 Question Id : 7894847396 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Observe the following properties.

Bob Fomed H84DoSod.

(1) Temperature
SEPS

(1)  Density
mro|tiel

(i11) Refractive index
H18a rheatissm

(1v)  Viscosity
fyfes

(v)  Specific heat
5}%%@0

(vi) Energy
=

(vi1) Surface tension
Sod558

(vii)) Mass
(atixeis:

The intensive properties in the above list are:
Bl a%@ﬁ D) KPS Gozyen.

Options :

L # 1. V1, Vil

) % 1Vl

3 Vi, Vil
11, 1V, V

4.

Question Number : 148 Question Id : 7894847397 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :



The total number of vibrational modes possible for HCN is
HCN eishid Sodare Sseen o) ?

Options :
3

1. ®

Question Number : 149 Question Id : 7894847398 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The correct relationship between bond distance (r,)and reduced mass (x ) of a
diatomic molecule 1s : ( B= rotational constant and ¢ = velocity of light)

2.8 BeBarenE ©emd) mofﬁgggo (1) 0805 o°d) BBoAS (Bagoed (i) o

gk e $Bahd Homotidn 2b?

Options :
h
By =
L% 871 Beu
( h N
o= ——|
\ 87 Be u |
2. ®
13
h |2
ol
‘ 87 °Be ti |
3.¢
.
(87 Beu |
E )



Question Number : 150 Question Id : 7894847399 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Benzene gives a strong absorption peak at 256 nm. This electronic transition
15 due to

BofS 256 nm 5§ a8 aoDs hm dpoed) (peak) anod. &% Jogds
HBRHBHW BB VBYBob?
Options :

*
| % H—T

E
n— G
2. %

T —> T

C—0



